
CHE 112 - Extra Practice - Chapter 15 - S21 - ver 1 Score: /34

Name: Class: Date:

1.[6 pt] Answer the following questions about a 0.0250 M solution of HCN. Ka = 4.9× 10−10.

(a) What is the pH of the solution? Explain. 1(a)

(b) Will the pH (D)ecrease, (I)ncrease, or (S)tay the same if 0.015 M NaCN is
added? Explain

1(b)

(c) Will the solubility (D)ecrease, (I)ncrease, or (S)tay the same if 0.025 M NaCl
is added to the solution?

1(c)

2.[10 pt] Just like in lab, you titrate a 50.0 mL solution of 0.050 MPb(NO3)2 with 2.50 mL of
a 0.050 M solution of KI to form a PbI2 precipitate. Answer the following questions
about the experiment.
(a) Write the Ksp equation
(b) How many mols of I– reacted? 2(b)
(c) How many mols of Pb +

2 reacted? 2(c)
(d) What is the M of I– in the final solution? 2(d)
(e) What is the M of Pb +

2 in the final solution? 2(e)
(f) Calculate the value of Ksp for PbI2. 2(f)
(g) What is the %-Error compared to the theoretical value? 2(g)

3.[5 pt] Write the reaction for each of the following values. Add the reactions together and
calculate the new K value.

3.

Ksp (Ni(OH)2(s)) = 5.5× 10−16

Kf (Ni(OH) –
4 2 (aq)) = 2.8× 1012



4.[5 pt] Will a mixture of 600.0 mL of 0.020 M Na2SO4 and 700.0 mL of 0.001 M BaCl2
produce a precipitate given the reaction Na2SO4(aq) + BaCl2(aq) −−→ BaSO4(s) +
2NaCl(aq). Explain.

4.

5.[8 pt] Given a saturated solution of Al(OH)3 has [Al+3] = 5.0× 10−4 M and [OH– ] = 1.3× 10−3 M.

(a) Write the Ksp equation. 5(a)

(b) What is the value of Ksp? 5(b)

(c) What is the [Al+3] concentration in a saturated solution that has [OH– ] =
2.5× 10−4 M

5(c)

(d) Would adding 0.25 M Al(NO3)3 or 0.25 M NaOH decrease the solubility the
most. Explain.

5(d)
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